DETAILS

Part Number BTFJC15
]
p“‘anha Approx. Fitting Time 1 Hour
" OFF ROAD PRODUCTS Max Battery Size 265mm Long

Max Battery Weight 21Kg
f , ’ 7 ,Né GUIDE Battery Type Cycle Duty — NON AGM
Tray Location DSF

‘Piranha Off Road Products are not associated in any way with Toyota Australia or any of
its related companies’

To Suit TOYOTA FJ Cruiser — V6 Petrol

PARTS INCLUDED WITH TRAY
1 (Tray 6 | 3 x M6 Whizlock Nuts
2 |Special Top Mount/“J” Bolts| 7 | 1 x M8 Body Washer
3 |4 x M8 15mm C/Sunk Bolts 8 | 1 x M6 Small Washer
(S NOT SUITABLE
4 |1 x M6 20mm C/Sunk Bolt 9 | 1 x Black Spacer Washer K FOR SELF AT
5 |3 x M6 15mm Bolts 10 | 1 x M6 Nyloc Nut ""

FITTING INSTRUCTIONS

1. Remove power steering reservoir & bracket.

. Remove A/C pipe mount from guard. (Retain rubber mounting block for re-installing later)

3. Manipulate A/C pipe towards the engine to ensure there is no undue pressure or rubbing
on other parts.

4. Re-install rubber A/C pipe mount to top of bracket on pipe using the black spacer
washer supplied.

5. Place tray into position & align bolt holes, Bolt tray in using 4 x M8
C/Sunk bolts.

6. Re-attach rubber A/C pipe mount to tab on end of tray.

7. Cut legs off the power steering reservoir and trim base to 50mm x 25mm.
(Refer Picture) Drill two 7mm holes through bracket & mount and mount to tab
on tray using 2 x M6 bolts and whizlock nuts.

N

8. Re-mount power steering reservoir making sure there
is adequate clearance on radiator hose and air cleaner
housing. (Note: Dip stick may need to be bent slightly for
easier access).

9. Place battery in vehicle
fit special top mount with
M6 nyloc nut on the
“J” bolt closest to the
air cleaner. Then drill
radiator support panel
and bolt top mount
using M6 bolt, washer
and whizlock nut.

Please Note: It is the installers responsibility to check all items have adequate
clearance and are secured/protected against vibration, rubbing & chaffing.

FITTING GUIDE - PAGE 1 ©Automotive Ignition Systems Pty Ltd 2018 Jan2019 - BTFJC15



